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Conjecture: limz—o f(z) =2

Conjecture: limz—o f(z) = 3.
28. f(2) =5 m 30.00500 70.00050
Conjecture: limz—o f(z) =0.
[z | mm 0.001
L 017 | 0.00017
20. f(z) = =5 [7(z) [ —0.00167 | 000167 .

Conjecture: limz_.o f(z) =0.

LIMITS INVOLVING INFINITY

2.4
1. a) 2 b) 2 2. a)2 h) 2 0 b) 0
4. a) 0 b) 0 5. a) oo bj -0 g, a) 0o b) —oco
7. a)0 b) 0 8. a)0 b) 0 9. a) —% b) —%
10. a) =1 b) -1 11. a) =1 b) -1 12. a) 5 b) 5
13. 14. —co 15. co 16. —co 17. oo
18. —co 19. —c0 20. oo
21. Zfl() is the end behavior asymptote. Vertical asymptotes at z = _% and

22. EBA: T=0. Vertical asymptotes at y = +2 in the (4, T)-plane
23. EBA = J: s b
Yy=3; VAiz = 49 24, EBA:y:%;VA:m=§@
25. EBA: y = 1 _ 4. : 6
Yy=2—-4;,VA:z = -9 26.EBA:y=x-6;VA-x=—3
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27. EBAty =22 422 4 9. yA. . _
T=2 28.EBA:y=42492 VA:z = +2

29. EBA:y=1; VA: 2 = 1£v5

30. EBA:y =z —1; VA:z = —1,1,2
31.a) 0 b)—co o) -co g)
32.3) 0 b)-00 c¢)Joo ) o
33.a)o0  b)—00  34.a)oo b)_co 35. 0 36. oo
37 1 38. -1 39. oo 40. —co 41. —o0 42. o
43. 0,—o00,—1, —1, respectively 44. 1,2, 00,0, respectively
45. 2 46. 0 47. 2 48. 1 49. 0 50. 1
51. Both limits are equal to 2. 52. 1

53.

54.

55.

57,

58.

Each graph satisfies y — oo as ¢ — oo and y — —oc as ¢ — —o0. As the
power of i i;creases, the vertical steepness of the graph increases for |z| > 1.

Each graph saiisies y — —00asz — +00. For |z| > 1, the vertical steepness

of the graph increases as the power of & increases.

Carrying out the hint proves that y = —3 is an end behavior model for f(z)

by definition of end behavior model.

z+1, 52
= { X 29<z2<5. Graph yp = v+ 1+
One such function is f(z) = | 3= T, i’rb_ < ph
25

02—z, y2 = 75 +tOVZ — +O\/ 7 and ys = —1+0y/2 =5 in [=5,10]
— , = L
by [-10, 10].

2~ @i
One such function is f@) =9 s+ X:l_#, >
—_41in [wlO ()] by [-20,: 20].

04—z, a 11dJ2-—33+"‘+0 .

T & 4 ‘ .
=" Graphy1 = 2 - Pl‘ﬁ +




